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1, According to Article 79 of the
: Constitution of India, which of the
following is/are described as a part of

Parliament of India ?

. The House of the People
i 2. The Council of States
i 3. The President of India

L E
]
i3

i Select the correct answef using the
i code given below:

(a) 1 only
i (b) 1and2 only

i (c) 2 and 3 only
: 1,2and 3

cannot be
arrested in
Criminal
Matters

WRE & WRUW & Ieda 79 & FEN, |
@ & & | R SRT B |
gm#wm*w#aﬁ?aﬁrmw g
2 i

1. &% |HT
2. TST |HT
3. HRd FT Tsgfa

;ﬁﬁm'#ma;cmmwa?rmé

Art 111

No bill can become an act without his assent

Parliament, Part V

hapter I: Union Executive CArt 52-78)
Chapter II: Parliament (Art 79-122)
Chapter IIT: Ordinance (Art 123)
Chapter IV: Judiciary (SG/HC) (Art 124-147)
Chapter V: CAG.(Art 148)

L President + V. President + Prime Minister

+ CoMs. + AG

Art 76

e Gollectively Responsibility: Art 75

e Governor: Art 213

z Match List I with List II and select the correct

answer using the code given below the Lists:

List [ List 1
(Major {Five Year
Objective) Plan)

A.Faster and more 1. First el 1951
inclusive growth
B. Faster, more 2. Fifth
inelusive and
Sustainable growth ">3. Eleventh
C. Correction of I
disequilibrium - Twelfth
caused by Sgcond

D. Attaining
self-reliance

5 (a) 2
A-3,B-4,C-1,D-2

(c) A-2,B-4,C-1,D-3
(d)—A-27-B-1€-4;D-3

mﬁlﬁmﬁu#vﬁﬁaﬁﬁ?ﬁh@#

ﬁﬁmaﬁwmwaﬁm

ol o
(vqw Jtvw)  (serndta greT)
A dram vd sifim 1. Tt
wmast afz !
(farwr) 2. wiwdt
B. e, i 3, Tt
A s

et 7t 4, =t
c.fdm frm gz @

IR FHITA W
B o (geren)

D. 3 fean wmw

F

(a) A-3,B-1,C-4,D-2
(b) A-3,B-4,C-1,D-2
(c) A-2,B-4,C-1,D-3
(d) A-2, B-1,C-4, D-3

President

LS

RS /> VW
Parliament

e Attorney General has
Parliamentary privileges
as can speak in
Parliament without right
to vote

Privileges

Gannot be
arrested in Givil
matters during
the session of the
house before 40
“days and after
40 days after the
session of the
house




. Due to some reasons, if there is a huge
fall in the population of species of
butterflies what could be it likely

/ q ?

. Pollination of §ome plantS)could be

adversely affecte

q

cultivated plants.
. It could lead to a fall in the
populat:on of some species of wasps,
i spide i sy
! Select the correct answer using the

i codegiven below:
| Wt onty

i (b) 1and 2 only
¢ (¢) 2 and 3 only
{ (d) 1,2and 3

. There could be a
the fungal infections of some

Fo FRON W, o faafaat i gafaad H

) A ot fme s & @ sws
waRE aRoTE/RRoTE #1418 a9 £7

1. %8 9l & W W oafage e 93 |
e 8l ;
T & FEA F ! |

3. 599 aodr, AwAl AN ol @ g |
STt A1 e # PREe 3w B

extreme keyword

:ﬁﬁﬁﬁmﬁmmwmm
ko |

(a) &ae 1
(b) Faer 1 3R 2
(c) ¥aer 2 3R 3
d) 1,233

Pollination: the transfer of pollen to the female stigma of

the flower
PLANT
Pollen grains
STIGMA
Sticky bulb that
STAMEN[ﬁZ‘IL‘.E'} =
Male Parts Polien
FILAMENT
St for
STYLE \PISTIL
Passageway [ Female
PETAL Fey

Modified leaves

unique shape and color to
attarct pollination

that have

Ovule becomes seeds

o Reproductive organ in plants: Flower

‘Pollination: pollen grains reach stigma through

Male part has:
o Filament: supports anther
o Anther: produces pollen

}—collecﬁvely called STAMEN

i t
Wind Wotey Hiego collectively called PISTIL
Female part has:
o Stigma: sticky bulb that catches pollen \
Anemophily  (Hydrophily, (Antemophily < Style: passageway for grains

« Ovary: the part of pistil that holds the eggs awaiting fertilisation. Becomes the fruit



! Which one of the following Directive
i Principles was inserted by the
Constitution (42nd Amendment) Act,
i 19767

a) The State shall minimise inequalities
in income

\y/{qual justice and free legal aid

i ) Promotion of societies co-operative

d) Provision for early childhood care

Amendments:

Prfafm & ¥ # @ Boww |
Reuia (FRys dca) dfRuw (42af |
HY=) FAAEA, 1976 @ st m@r

qa ?

a) ST 3T A HAAWAIHT F FA F90
e Art 44: Union Givil Gode
. Art 49: Key to protect

d) YEIATCA TEAEEAT GE-HIT FT q@UH |

b) WA ST TUT HIT Flefel Ferar

c) HEHNI WATFEr T FatT

e 42nd —"Poor: free legal aid (394)

__Environment: 48A

monuments

L Workers: to ensure their participation in the management
of industries (43A)

—Child: healthy development of children (39)

o 44th —To minimise inequality in income status and opportunity (38)

o 86th — Change in subject of Art 45: early childhood care

o 97th —Inserted Art 43B: formation of Cooperative Society

Part IX B was
added FR

Under Art 19, it’s

formation was made




Congress
Constitutio:
was headed

In the year 1928, a committee of

A. Mahatma Gandhi

D. Jawaharlal Nehru

leaders drafted a
r;);or India. The Committee Frenl st
R

¥ 1928 H, FAMA Aast f v WA &
9T F X s w@fue & #ule AR

#1 regerar fraar #r ot

A. HEIHAT ieft
. T. B. Sapru . AL
S 5 B e Nehru Report by Nehru,
2 Motilal Nehru . i

. FHW, AT Jinnah gave 14 points

1919 — Montague Chelmsford Reforms

separate
electorate Dyarchy Bicameralism at Centre

|

Christian,
Indians

l

Anglo Provinces, 1919

commission to be

formed
yrs

1927: Simon Commission

after 10

T-membered commission,

(y all white
d

a

eath of Lala Lajpat Rai in
nti-Simon Commission

GOI Act 1935: Dyarchy to Centre
(provincial autonomy + 6 provinces
out of 11 were given bicameralism

Removed under GOI Act 1947

Secretary of State, Birkenhead

|

1858: Queen's Proclamation

| Abolition of East India
Company

|__Abolition of Dual
Government



' 6, Consider the following statements : far=fa@a suar 97 {Ew S35

1 il:xi:’rnoknmsar Convention, it is 1. THET ST § qEd, IRT WER £
: ry on the part of the & A &
Y Government of India to protect and T { H “,‘ g & wft W
"  conserve all the wetlands In the territory Lise 3 WEOT FEAT HEE R

.2 ":‘;Lndia;ﬂetlnnds (Conservation and | 2. m (m m :r-nm) ﬁ!m'-r, 2010 [ ] wet'and Dag: 2nd Feb

' Management) Rules, 2010 were framed HRA &R @RT TAE FeaT
( by the Government of India based on the AP F YR 9T ("‘hﬂ'( fFT o o i
k recommendation Ramsar Convention. i ] =
{8. The Wetlands ~(Conservation  and . . . ! Ramsar Convent'on. 1971
Mana, 3, deelsw (WwoT AR wErw) fE@, 2010
gement) Rules, 2010 also A 3 H
encompass the drainage area or # Ty (SuY fauiRa 32‘@"‘3‘ * aﬂ ; (Iran)
catchment regions of the wetland as ARl & a1 Faaer & i afAe § |

determined by the authority. s 3R FUAT & & S v “-ﬁ 1st Ramsar Site OF India:

' Which of the statements mentioned above %l??

| ahma— Wiz mews  Chilika Laken(Odisha) and
|\ 2 and 3 omy @1zmas | @FW23R3 @23 peoladeo Ghana National
Park (Rajasthan)

Total sites currently: 75

7,
Chalk and marble are different forms | @f3ar (=) 3R TR, PAER@ET
of # ¥ fred Rt w0 § 2
a) Calcium hydrogen carbonate a) HewTH FEIe FElAT
Calcium carbonate b) TR FEAT
c) Calcium acetate c) Ffowaa R
d) Sodium carbonate d) 9IffEH FEAe

chalk

€a0 + H,0—— Ca(OH),+ €0,—>CacC0,

Marble
limestone

white washing

wall
of walls o Epsom salt: M9SO,. 7 H,0

Gupsum: a0, 2H.,0 2, gaso, 140 ° B NA,B, 0 10H,0
* Green vitriol: FeSO,. 7H,0
* Blue vitriol: CuS0O,. 5H,0

o White vitriol: ZnSO,. 7H,0



The number of maximum electrons in
i N Shell is
| o

12
L 2)8
i 3)1s

32

Hear frae gt ¥ 7
1) 2
2) 8
3) 18

4) 32

Bohr Bury Model: 2n2

2 X

i Which one of the following cities is
associated with Biosafety Protocol to
i the Convention on Biological Diversity
i (2000) ?

1. Geneva
{ 2. Nairobi
\%artagena

4. Rio de Janeiro

Kigali: HFC

4*= 39

mmwsﬁm(mom?ﬁ
da g vewe & w, Peefata &
ﬂ*\‘ﬂmmsmgm%?

1. f@ar
2. =t
3. Fiforar
4. i@ & sakar

Minimata Convention. Mercury
Vienna Gonvention: Ozone Layer

Montreal Protocol: GFC phase out

® BRasel Convention: Hazardous waste

N W @ # geweet & e |

1st orbit: K shell
2nd orbit: L shell
3rd orbit: M shell
4th orbit: N shell

*Basel Norms: banking,

~ norms regarding Risk
Awmted Assets

* Janeiro: Month

e Stockholm (2000): Persistant
Organic Pollutant

e Born Convention. Migratory
Species

e Nagoya Protocol: Access to
genetic resources

* Earth Summit (1992): Agenda 21/SDGs

* Kyoto Protocol (1997): Global Warming reduction



511_What are theAignificances of a practical

10.

. Seed cost is very low in this compared to

the conventional method of cultivation d. m s A dEa AN A oRoRES @Y A

. There is applicatiln of chemical/

. The scope for intercropping is more in

Krishna Raja Sagara Dam/Reservoir
is developed on

(a) river Krishna )__ Hampi

(b) river Tungabhadra

(c) river Godavari \

err Kaveri

FOT TS JER diw/Send, R oAl w
AT AT R ?

(a) o A
(b) ToTsTeT

Hemvati,

Kabini, Bhavani

approach tg/sugarcane production known
as " if{ Sugarcane Initiative'?

. Drip irrigation can be practiced very |2.

effectively in this.
inorganic fertilizers a .@ n this.

this compared to the conventional

method of cultivation.

Select the correct answer using the code
given below.

A) land 3 only 1,2 and 4 only
C) 2.3 and 4-oaly Djs278amd
12.

! Which one of the following Indian
i states does NOT share international
¢ border with two or' more countries?

Amravati

Sustainaole

IFAT IUEA F AU "WAd TeAT g F
T A AW EEIRS (FOCHT FToFAT
AFeT 87
qere & aga w4 §
;‘ﬂﬁ%‘T

1

ST e g gl

a. uh A oRE R K g F e

HRGHA T IASFA AF F
gmmmmmmaam
1

(a) Faer 1 31X 3
(c) Faer 2,3 3 4

(b) Faer 1,2 3R 4
(d) 1,2,3 3ix 4

fefef@a & ¥ Fi9 a1 aRdw =y,
& yuar 0w W F Wy A
AT Y | AE FRAT & ?

igawméwﬂiﬁlmmg
3. o TR S o R o |

1) Arunachal Pradesh t-STesTrao Sod
2) Assam Bﬂng'ﬂdeSh, 2) @A
| 3) Mlgam Bhutan 3) fsiwa
Tripura 4) B

Bangladesh

Banglesh, Myanmar

China, Myanmar,
Bhutan
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weltatils
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o Y Avanavad w BiHAR " BANGLADESH 4 | (L]
y Aomee o nan
" . A Vg W et frea TrgUt | “’.;?““ MYANMAR
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Coastal boundary: 7516 Km

ISLANDS
INDIAN ocﬁ
! o ,—‘ i

QY

Andaman and Nicobar (longest)

Nepal: S U B B U

Arunachal

ASSAM — sikkim (Nepal,
Bhutan, China)

(West Bengal
(Bangladesh, Nepal,
Bhutan)

Land Boundary: 15,200

Bangladesh (longest):

m

y S BChPNMBA
Bangladesh

China

Pakistani land boundary
Nepal decreasing
Myanmar order

Bhutan

Afghanistan -

Gujarat (state-wise): 1600 km

Sikkim, Uttar Pradesh, Binar, Bengal, Uttarakhand

Bhutan: B A S A
Bengal, Assam, Sikkim, Arunachal

Bangladesh: M A M Tak W

Meghalaya, Assam, Mizoram, Tripura, (West Bengal



13,
Name the scientist who first used a |3w d=fas F1 amr =7 &, owa q:d & Nat‘ona' sc'ence
o wgelt | Dag

glasls. }l:rism to obtain the spectrum of |y &1 FiecH Wed I &
; sunlight

Raman Effect| regarding
scattering: 28 Feb 1928

b) Lord Rayleigh + Ramsay| v, = w
wac Newton \ c) T =qeeT 1930 Nobel
d) S. Chandrasekhar v ~ 1954: Bharat Ratna

1983, Nobel along with William
Fowler for Chandrasekhar met

i a) C.V.Raman YR I

Argon through

Stars ki duri  Seattering ,
’\ experiment from Air
wavelength decreases and frequency

increases

RMIVUXG

Electromagnedic spectrum

LE-P+ to right decreases

/ ) IR G > gomma rays
radio waves J \/ \
mickowaves visible rays X—l’mjs
infrared rays
uH’l’DlVOI|6+ ollsoovei’ed
lner+ gases \/\/llllam Rontgen

atomicity: 1
O3 —> Stratosphere, protects

g Monoatomic Z

from UV rays

Atomicity: 3 Z0-35 range



14.It is pussxble to pmduce algae based
biofuels, but what is/are the likely

i limitation(s) of developing countries in

5 promoting this mdum

yﬂ Production of alga€ based biofuels is
possible in se and not on

continents.

Setting up and engineering the algae
based biofuels production requires high
level of expertise/ technology until the

ha.

construction is complete
i 3. Economically viable production

necessitates the setting up of large scale
facilities which @ aise ecological and

social concerns.

Select the correct answer using the code
given below.
i (a) l-and-2-enly—
i (c) 3 only

2 and 3 only
(d)3

? ofkw s I L)
e 3 A TR AT a7 8

i |

.mﬁfﬁm#mﬁr&mﬂ#mﬁﬂwﬁi

o gl T T #7 aRTwar @ §
aRfeufas AR awfes

4]
AT BE v Fz F7 3990 FE FE IW
T
(a) 3w 1 3R 2
(c) Fawr 3

(b) Faw 2 3R 3
(@) 1,2,3

Rt & agr wwedl |

Biomass: Major constituent CH (Marsh gas, Methane gas,

Uranus)

Renewable source of Energy

Thallophyta Phyllum

I
Algae —— Chlorophyceae (green)

‘ Rhodophyceae (red)

Phaeophyceae
Cbrown)

Protista Plantae

15.
! Which one of the followifig statements
i regarding magnetic 1d /is NOT
i« correct?

(a) Magnetic field is a quantity that has
i direction and magnitude

(b) Magnetic field lines are closed
! curves

@Ma/gnetic field lines are open curves

(d) No two magnetic field lines are
found to cross each other

unit: Tesla

m&ﬁ*mﬁmﬂﬁi
T a1 P T g Y 2

(a) TFEHIT &7 TH TR § W A
3R ofwmr @ §

(b) TFIHIT &1 Y@T WgA TF (FAlSS
F4) gt &

(c) TFEHIT &1F Y@ Golr T (3T
F4) gt §

(d)F1$ ot g TFahT & @' 'H
T B A e ¥

Blue greev algae: Cynobacteria

e Magnetic effect of electric

current: Hans Christian Oestred

o Right Hand thumb rule:

direction of magnetic field in a
current carrying conductor

%-Fleming's LHR: Force

n

RHR: current



Which one of the following is the most
i fundamental characteristic of an
i element ?

(a) 1ting point
Atomic number

(c¢) Colour

{ (d) Atomic weight

fFY acg F1 waEiftw Ao sffeeror,
PR A saag?

(a) IreTeiH

(b) TRAT FHHATH

(c) T

(d) WA AR

Dobereiner: Law of triads, 1817

Newlands: Law of octave, 1865 — Calcium

Mendeleev: 1869

periodic table based on Atomic (Weight

Henry Moseley: Modern Periodic table, 1913

17.

organelles may play a rolé in expelling

excess water and wastes in case
unicellular organisms?

Which one of the following cell

IHF TH HiRw A wwar § 2

R e # RuRy A wfRed
() s 3k el &t R |
T R & & W S

a) Lysosome

acuole
ﬁ:’im body— Storage

AR Tt

b) Tt (dagaiten)
c) est HT
d) Endoplasmic reticulum d) sdgedt Sfaer
Transportcrtion

turgidity and rigidity to plants (90% of cell

volume

Permanent vacuoles in plants only
but in animal cell it's not

permanent

(Waste disposal due to
hydrolytic enzymes

/(RER)

Suicidal bags of cell

Production (Golgi Apparatus)

eristematic tissue: No
Vacuoles, dense cytoplasm
—Apical: tips — Height

—Intercalary: nodes — Height

| Lateral: Sides — Girth of
stem



18.
{  Which one of the following is NOT a
cause of depletion in groundwater?

\ﬂﬁorestation +ve

2. Loss of forests. —V€

-ve

3. Excessive pumping of ground water —

4. Construction of large scale concrete
buildings ve

FHAT FT FROT G § ?

1. FaRIqor

2. g4t & gifa

Ves. sorar i cafts A # e
4. 93 YA W FHe waat &1 FaTT

19.
i  Which one of the following is NOT
a current of Pacific Ocean?

1) Oyashio current — 00|d

2) Algska current — warm
\A’lhas current — warm
E 4) California current '—COId

¥ Circle marked in red

are —» Cold ocean
current

Rest in plug —» Warm

#

farfaf@a &
AP &1 4RT &

1) iRy grr

oy

2) ATERT URT
3) 3TAETE 4RI
4) FAEIEar arr

Mojave Desert

ﬁmﬁf@a##mmw,wﬁé

@ g |

fogoy conditions not
good for harbouring

Warm+Cold meet: best for fishing
_zones

-
Ay i
o N A 2 N Pacific
G~ E&D
N Equatorial \\
/
~~ Equatorial N 3
o—Noth Equbw. o } 7 v / . gy N Equatoral
o
4—Souhcqueoe e o p
Ataca fu
Deserts
/7
1
South Pacific / /
Antarctic Circumpolar AntacticCrcumpolar g
w W AR
J’

Easterlies



20 Which one of the following statementsg
about the Revolt of 1857 is correct?

| 1. It was_a_Revolt carefully organised
and %%d by the Rajas, Nawabs.
' and Taluqdars

2. Rumours and prophecies did not play
' in its outbreak and spread

he rebel proclamations in 1857
repeatedly appealed to all sections of
the population irrespective of their
caste and creed.

D(The British succeeded in quickly and
{ easily controlling the rebels

Satara occupied
first

Doctoring of Laps

¥ 1857 % fa@® & an #, PR |

ﬁaaﬂammaﬂ%? i
I L SR mgrr g
T T v RRw ar

2.svﬁaﬁg$maﬁ(3m)aﬁz§
sifsgaforay #r |

a:mﬂa'-'ﬁ#szﬁr H
(Ad) W tae e f@En, aRer |
dter @ :

4 mAE @ ah ah ¥ Ik ek @ |
oror = U ® ey v @ :

3. 1857 # fagdr ayomat 3ﬂTan‘«mf’r

Revolt of 1857-Why?

‘ Use of greased
e spread of cartridges
westernisation (immediate reason

opposed by:

o Jhansi: Rani Lakshmibai —— phigh Rose

* Kanpur: Nana Saheb — Colin Gampbell

o Delhi: Bahadur
Khan

Shah II/Bhakt — John Nicolson

o Lucknow: Begum Hazrat Muhammad — Henry Lawrence

e Bihar: Kunwar

Singh — William Taylor

o Bareilly: Khan Bahadur Khan — Campbell

21.

' Which one among the following was

frfafag ﬂm_mnﬂz_u———- 1954

{ "NOT a Panch Sheel principle ?

1) Peaceful Co-existence
i b

2) Mutual respect for territorial

; integrity
‘%ﬂu deterrence

4) Non-interference in internal affairs.

RicuTd «gt a1 ? PY S.gﬂed betweeﬂ

1) wifrqet wE-arfeae | .
2) erd sr@E & R RERE Iﬂ(:‘la and
' China

3) affdrr faaror (waATy Sfar)
4) IaR® AFE # IFEART




22.
i When the short circuit condition
occurs, the current in the circuit

1. becomes zero

2. remains constant
increases substantiall
———

4. keeps on changing randomly

Fuse wire

waqw(mvﬁre)ﬂanwﬁag
At 8, oRww # amwr |

1. = @ ol §

2. fR o=t et #

3. gHicy ¥ ¥ Tt §

4. FfRos & ¥ TRafda e wehr

With low melting point

and high resistivity

Sn, Pb, Zn
23.

Which one of the following is NOT
reason of decrease in biodiversity?

+ve

a) Large scale deforestation —yg

b) Exploitation of forest produce —VE

\yaintaining sacred groves +v€

d) Encroachment in forest areas — V€&

24.
| Which onéhof the following terms
i describes the practice of growing two

{ or more crops simultaneously or the
i same piece of land ?

a) Crop rotntwlb<'
‘”/m'“l croprite _definite

c) Intercropping — patterﬂ

d) Mixed fnnningo<

agriculture+farming
Requirement of capital

# v @F & HFRoT A& 2

a) @3 3 W A Fer§ (Frdafrnon)
b) I IYS & JEA

c) R IuEAl &1 @I

d) &= &t # Ffowaer (GEegreh)

feafaf@a & & sla @1 wsg 4 &
() %2 W w FU (vF § FHT H)
yyar s wud I gguia
aftte &ar & 2

a) BHA THUT (HIT IUA)

b) AP www (P #wim

c) H-BHS (FFeTHINT)

d) AT ad (Rees wifdT )

mﬁﬂmmwm

aad

Heating effect of electric current:
James P Joule
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